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DO NOW

In the diagram below of AACD Eisa pomt on

AD and B is a point on AC, such that EB || DC. If
AE =3, ED = 6, and DC = 15, find the length Bf

FB. 2> _ A c
X Iz A
X

3

S /S - =
N=45
LSRN I
]
D

Angle -Angle Similarity

If two angles of one triangle are congruent to the
corresponding angles of another triangle

Ift ZA=/D and ZB=/FE
Then: AABC ~ ADEF
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Side-Side-Side Similarity
If the three sets of corresponding sides of two triangles

are|in proportion |*
*
i AB_BC _AC
" DE EF DF
Then: AABC ~ADEF
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Side-Angle-Side Similarity

If two sets of corresponding sides are in proportion and the
angles they include are congruent.

AB AC
DE DF
and ZA=/D

Then: AABC ~ADEF
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Triangles RST and XYZ are drawn below. If
RS=6,85T=14, XY=9,Y/=21,and LS = £Y, 1s
ARST similar to AXYZ? Justify your answer.
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Determine if the triangles are similar. If yes, state
which type of similarity the triangles have (AA, SAS

or SSS)
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